[lopsaaoK BbINONHEHUSA OENCTBUN
B BbipaXeHusax. PelleHne 3aaav.
3 Knacc

CocTaBuna y4uT. BbiCLLEN KaTeropuu
JleBbiknHa H.B.
MOY COLU Ne2

c. EkaTepuHocnaBka
AmMypckon obnacTtu.



MaTtemartnyeckas pasmMmuHKa

64:8+(63-23):8—5=



MaTtemartnyeckas pasmMmuHKa

1

64:8+(63-23):8-5=



MaTtemartnyeckas pasmMmuHKa

2 1

64:8+(63-23):8-5=



MaTtemartnyeckas pasmMmuHKa

2 1 3

64:8+(63-23):8-5=



MaTtemartnyeckas pasmMmuHKa

2 4 1 3

64:8+(63-23):8-5=



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64:8+(63-23):8-5=



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64:8 + (63-23):8-5=

40



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64 :8 + (63-23):8-5=

& 40



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64 :8 + (63-23):8-5=

S N



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64 :8 + (63-23):8 5=

L)

~g3—



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64 :8 + (63 -23): 8

Sy



MaTtemartnyeckas pasmMmuHKa

2 4 1 3 5

64 :8 + (63 -23): 8

S



3agada Ne 226

=

&~ Mo54.-7k



3agada Ne 226

L]

Qﬂ, no5uy. -7k

“f no9u4.-6«k.



3agada Ne 226

-

\ “2“."1,"
‘—Q. i o
‘

MO S5Y. -7 K.t

no 94. — o6 K.



PelLlueHue.

5*7 =35 (4.)- no rpebne



PelLlueHue.

5*7 =35 (4.)- no rpebne
9*6 =54 (4.) — no cTpenbbe



PelLlueHue.

5*7 =35 (4.)- no rpebne
9*6 =54 (4.) — no cTpenbbe
54 — 35 =19 (4.) - bonbLue



PelLlueHue.

5*7 =35 (4.)- no rpebne
9*6 =54 (4.) — no cTpenbbe
54 — 35 =19 (4.) — bonbLue

9*6-5%7=19 (4.)



0/3 c.75, Ne?228(a, 6)



Monoaubi!




Yyuute tabnmuy yMHOXXeHNA!




